« The following table of probabilities was obtained from Excel.

(i) 0-022%

Use the table to find the following when X~ Normal(m =23,s=2):
N 1) prX<=19); () pr(X<19); (i) pr(X>21);

(W) 0-9772-0-69:5 iv) pr24 =X <= 27) _

= 0-2857 |

(i) /- 01587 = 0-8u3

a The following table of probablhtles was obtam from STATA: Normal with mean
8. 6 and standard dev.latlon = 1.28. S
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* The number of liters of soft serve ice cream sold by an ice cream van driver in an afternoon is foun
to be Normally distributed wuh a mean of 8.6 litres and a standard devmtlon of 1.28 hters

(i) What is the least amount of soﬁ: serve 1ce cream that IS needed SO that the driver can satlsﬁ/
demand on 90% of afteroons? 10-2404

(ii)Whatisthe mterquartlle range for the ice cream sales. 9. 4673 - 7.7367= /. 7266
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. e  u Useeither STATA or a 7] _irte solve the fo]lovwng problems where X---Normal(m =
ﬂ(xf;s)% ; ,:- ‘31"5 - ! 5 1 S"'" 0: 37) ST o (w) Z2=23- 151 oo ,: Z2=28-6-81 =0-5747
.= 2 SRR P o &7 0-97

(1)Whatlstheprobab1htythaIX1sgleaterthan6‘? - fecy o e
' - (11) What is the probability thatX1sbetwocn37and5 67 [(374x285€Y= 0.7/6 - 0054 = 0 e
(m) p(22028) 2057 (u1)Whatvalueofxg1vespr(X<—x) 0.6?

Z{x 37#5’ | -
%2 = 65’ 21 : » X has a mean of -3 and a standard deviation of 5 and Whasa mean of 5 and a standard dev1at10n of

f : ‘ . 3. Let X and W be mdependent randen vanables and letY=3X-3 W

(t.) W 3D -3(5) = _ 4y

.s‘aaY)-.fa(CJ)('-ZW) -/50((3)?1'*"""('3"‘”1 ' - s = /3 (D C3IV(D* = V706 = 1749

(i) What are the mean and standard deviation of Y?

i ° (11) What can we say about the shape of the distribution of Y? — centereh i lowe~ AP
, | - | o I - bkl X andd W
- oL-('é.f'uéuJébm £ more {/oﬂta!('
au-’é Hom X Mdc W

HW _3_2) Suppose that X~ Normal(m**&' sd—-—4) compute ﬂle Z-scores forthe 2 =X~

' T
follomng numbers and state how many SD's is-each of these numbers away,s’
from m: | | Z=-2-3 = —I§ Z2-1-3 z -
7 _ I
=3 -2 (2 sd’c amay) PU-3LXE=) 20159 ~ 0067
11 2 (2 sd=% way") = 0_'0‘7.2.

1.4 -0y (g cdq away)) | N
- = What is the probability P(-3<X<-1)? Is it different from P(-3<=X<=-1)? Why? W/ - s tribukion i«

=
-
m 5 | oS (o.¢ sd’¢ Jw"ﬂ-q)
=
N




